ma
20 5 5 TR 1 0 2 (1S T S B DCoMm-19

m o= Al —|ILR(NO2). ZEZ(C2H60). RE(03).
ZU(NH3). BfE=(H2S). #bs(HF). Z&{bHi(S02).
£(CL2). BLR(CH4). BEZLR(C2HA0). ER(H2) A
m B AESEOLED mommanna,
m RS-485%iH JEEXE-BL. 3B KHEETE
m _HAREE %ainu.'ﬂj(iiﬁﬂ) ..............
m SDER]FEEESLE R (EAT)
m DC4~20mA#a H (3EEAD)
m AJfid & A BYRET 25 ((EAD)
m O] EC & AR LoRa%AI (EAR)920~925MHZIF & NCCIEIhET 48 A48
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H g

S AIE5E : O, : 0~20.0ppm (BEf/E : 0.1ppm) R FERSERE] : O, =120 NO,: =25%
NO, : 0~20.0ppm (E&47/E : 0.1ppm) NH,: =150 % H,S: =308
NH, : 0~100ppm (B247E : 1ppm) HF : =60 # SO,: =30%
H,S : 0~100ppm (BR47Z : 1ppm) CL,: =60 % CH4: =30 %
HF : 0~10ppm (B 4T/ : 1ppm) C2H40: =30f C2H60: =15%
S0, : 0~20.0ppm (B&4f/Z : 0.1ppm) H2: =60 % ROR)E 1%
CL,: 0~10.0ppm (B47/E : 0.1ppm) BAlESa i 28
CH4 :0~100.0% (B4 fE : 0.1) C2H40/ C2H60: 14
C2H40 : 0~20.0ppm (#+#7/E : 0.1ppm) 0,:1~2%
C2H60 : 0~1000ppm (B4 E : 1ppm) 0O,/ NO,/NH,/H,S/HF /SO,
H2 : 0~1000ppm 8 0~30000ppm (&4 /E : 1ppm) CL,/H2/TVOC /HCHO: 2%
B :-30.0~100.0°C (BEHFFE : 0.1) PM2.5: 34
BIE 10~99.9% BE4TE : 0.1) CO: 4%

BEE HS S HE=3%(25C) ggjj f(fﬁfﬁ

CL, é;;g{ﬁ +3%(25°C) REIRIE  0~+50°C / Below 80%RH.
CH4 =EE{E T3%(25%C)

ETFIRIE © -20~+60°C / Below 80%RH.

= +39
C2H60 FE{E +3%(25°C) TI1EE/E DC 24V

R 5=E OLED
BORIER - B2 ; BiE  DNIR; JE(R)E : B /BESS

RS-485:@ & /it @ EHERRARE
Address : 1~FF(16 Hex) DCQM-19-[ ][ ] g D
Baudrate : 9600, 19.2K, 38.4K,57.6K, 115.2K ‘
Frame :N.8.2, E.8.1, 0.8.1,N.8.1 1= &1tm (NO,) N] None LEE+RE|
Protocol : Modbus RTU mode 2|25 (0,) 1 PM2.5 /PM10
3|5 (NH,) 2] co,
4| m®EE (H,S) 3 TVOC 1]14~20mA+Relay
EERHE(ER) 5| L& (HF) 4| HCHO 2 [Relayx 1
% : 6 | ZS1LHE (SO,) 5/co 3 |Relayx2
e %lJZSE,,L : Mlcrocomputer o (CL;)I 50, 4 [4-20mAX1
¥ FE&i[E : Free setting 8| Bz (CH4) O [Option 5|4~20mAX2
HBERAIE  AC 250V, 5Aresistive load 9|IBE 2% (C2H40) Y | RS-485
DC 30V, 5Aresistive load AlE% (H2) L|Lora
B| Z &2 (C2H60)
OlEE
fic #%
—Power—— Relay — rRS-485+ ~Power - Do P G A RS-485+ ~Power—— R1— P Gaom-RS-485-
+24V 0V com R1 R2 + - +24V 0OV + - + - ¥ - +24V 0V com a + - + =
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